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| ey 354,375 79.7% | SYHIE 208,670 76.6%
B3 228,795 51.5% gtate|| 105,183 38.6%
8A+30|2 47,991 10.8% CH&42t| 39,144 14.4%
AChAIRI S 7,939 1.8% HIAQEEH S HUN 25,155 9.2%
ZLHACAIE 1,419 0.3% SHHAEH= 776 0.3%
HALAIG 1,645 0.4% MESH=H 23,023 8.4%
FEEASY 3,336 0.7% SAHZHE 10,537 3.9%
CH A= H| S B H 15,365 3.4% SHMUZHZH 4,852 1.8%
SHZEL 36,140 8.1%

p ey [f= PN 5,626 1.3%
HS3H 24 6,119 1.4%

Il FHels 89,981 20.3% Il FHAEE 9,288 3.4%
ol 202t 41,193 9.3% 2= 9,228 3.4%
R7+2Ho(t 36,020 8.1%
2| 2Hole 12,768 2.9%

. M| 54,392 20.0%
HI& 272,350 100.0%
27|&0lY 172,006
£9| 444,356 100.0% A 444,356




